
www.geovent.com.pl • tel. +48 799923945 • e-mail:biuro@geovent.com.pl

The variants mounted the extension arm

You can mount the Hose reel on the ceiling or the exten-
sion arm if desired.
Contact us for details.

Retractable hose
After use, the hose will return to its original position. This 
will save the time it would have taken to roll in the hose 
manual. You must help the hose during retraction.

Adjustable hose stop
The hose stop is easy to adjust and allows you to choo-
se the optimal length for the job.

Micro switch
You activate the High vacuum unit simply by pulling the 
hose.

Rotatable bracket
The bracket can be rotated and increase the hose reel 
range.

Hinge and hairpins split
Simple system for installation of the hose reel.

High Vacuum Units

Hose reel for High Vacuum

Standard Model

Ceiling-mounted variant

Hose reel for High Vacuum characterized by:

Art. no. Dimension Weight Brackets Hose Ø Hose  
weight

Connecting  
to channel

[mm] [kg] [mm] [mm] [m] [mm]

Hose reels with 9m, ø38 mm hose 74-051 800x240x650 12 300x40 38 9 50

Hose reels with 7m, ø50 mm hose 74-052 850x300x700 13 300x40 50 7 50



www.geovent.com.pl • tel. +48 799923945 • e-mail:biuro@geovent.com.pl

TOLERANCES acc. to ISO / TOLERANSER enl. ISO
Applicable where no tolerance is indicated.
Gäller där tolerans ej direkt utsatts
For machining / För bearbetning:
For welding / För svetsning:
Surface finish acc to: ISO 1302 Machined surfaces.
Ytjämnhet enligt: ISO 1302. För bearbetade ytor.

ISO 2768-mK
SS-EN ISO 13920-BF

Ra 3,2

1

2

4

5

6

7

8

9

11

10

12

13

3

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 201410885a ARM KIT 1

2 201410886 SPRING KIT 1

3 1803865 SPRING 0

4 201310252 HOSE SUPPORT 1

5 3001050 BUSHING 50mm 2

6 3226038 HOSE ANTISTATIC EVA 38MM 8

7 1335016 C38B HOSE END (38MM) 1

8 201620001 CONE 63-50 mm 1

9 201310214 OPEN RING SW54 1

10 201620006 SCREW MC6S M5x12 FZB 4

11 201000517 SUS 304 LOCKING NUT M5 4

12 3190038 HOSE STOP 1

13 1335007 A37C HOSE CONNECTOR (38-50) 1

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 201410885a ARM KIT 1

1.1 201310253 Arm 1
1.1.1 201310207 Arm 1
1.1.2 1415145 Tube 1
1.1.3 201310208 Tube 1
1.1.4 1204004 Holder 1
1.1.5 1407051 Pipe 1
1.1.5.1 1407051 Pipe 1
1.1.5.2 1407051 Cut 1
1.1.6 201310206 Holder 1
1.1.7 1401421 Pipe 1
1.1.8 1422061 Square Tube 1
1.1.9 201310214 OPEN RING SW54 1
1.2 1309036 Support 1
1.3 1400004 Bracket 1
1.3.1 1503006 Holder 1
1.3.2 2001010 Nut M10 no surface treatment 1
1.4 1400005 Pin 1

1.4.1 1708315 Pin 1
1.4.2 1309027 Stopper 1
1.5 1503007 Stopper 1
1.5.1 Sheet -
1.6 1800206 Spring 1
1.7 3001009 Bushiing 1
1.8 201310212 Plastic shutter 50mm 1
1.9 1930002 HOSE GUIDE 1

1.9.1 1930001 STEEL RING ID 52, D 7 1
1.9.2 1730194 HEXAGON HEAD SCREW M10X16, DIN 933, NO SURFACE TREATMENT 1
1.10 1400006 Arm for tube guide 1
1.10.1 1401561 Pipe 1
1.10.2 2001010 Nut M10 no surface treatment 1
1.10.3 201310103 Plate 1
1.10.4 201620005 Threaded rod M8x18 1
1.11 2900400 HAIRPIN SPRINT BENT 3 GALVANIZED 1
1.12 3104003 PLUG 20X20X1 M8 2
1.13 3406020 PLUG 60X20 1
1.14 3710001 Micro switch 1
1.15 3713326 Micro switch arm 1
1.16 2002002 NUT M2 FZB 2
1.17 2106012 SCREW M6S M6x12 FZB 1
1.18 2310216 SCREW MRX M2X16 FZB 2
1.19 2530616 RIVET WASHER NB 6X16X1 2
1.20 6360089 1105135 NUT M10 1
1.21 2110050 SCREW M6S M10x50 FZB 1
1.22 2521028 WASHER SRKB 11x28x2 1
1.23 2206025 SCREW MC6S M6x25 1
1.24 2003006 NUT M6 Nyloc FZB 1
1.25 2003010 NUT M8 Nyloc FZB 1
1.26 3230004 Cable protection 1
2 201410886 SPRING KIT 1
2.1 1400007 LID 1
2.1.1 1100259 Lid 1
2.1.2 1300330 Stopper 1
2.2 1100258 SPRING HOUSE 1
2.3 1803865 SPRING 1

2.3.1 201620002 Spring 1
2.3.2 201620003 Spring 1
2.3.3 201620004 Spring Body 1
2.3.4 2610411 POP RIVET 4X8, DIN 7337 4
2.4 2610411 POP RIVET 4X8, DIN 7337 2
3 1803865 (KIT) Spring 0
4 201310252 HOSE SUPPORT 1

4.1 201310203 Hub 1
4.2 201310202 Hub 1
4.3 201310204 TUBE 1
4.4 1700645 Hose support 2

4.4.1 201310102 Ring 1
4.4.2 201310101 Ring connection 6

5 3001050 BUSHING 50mm 2
6 3226038 HOSE ANTISTATIC EVA 38MM 8
7 1335016 C38B HOSE END (38MM) 1
8 201620001 CONE 63-50 mm 1
9 201310214 OPEN RING SW54 1
10 201620006 SCREW MC6S M5x12 FZB 4
11 201000517 SUS 304 LOCKING NUT M5 4
12 3190038 HOSE STOP 1
13 1335007 A37C HOSE CONNECTOR (38-50) 1

Rev No Revision Note Date Sign
0 First release. 2016-02-15 G.B.
1 Replaced item 1, 8 and 13 with different variants. 2018-01-05 M.S.
2 Replaced arm kit with new hose guide. 2019-01-08 M.S.

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

PART / ASSEMBLY FILE DRAWING FILE

9505138
SHEET OF

1 2
REV

A-02

DRAWING NRDESCRIPTION

HOSE REEL 38mm

HOSE REEL 38mm

DRAWN BY YEAR WEEK DRAWING CHECKED BY DESIGN CHECKED BY

MATERIAL

DATE

TH
E

IN
FO

RM
AT

IO
N

CO
NT

AI
NE

D
IN

TH
IS

DR
AW

IN
G

IS
TH

E
SO

LE
PR

OP
ER

TY
OF

CE
VA

C
AB

.A
NY

RE
PR

OD
UC

TI
ON

IN
PA

RT
OR

W
HO

LE
W

IT
HO

UT
TH

E
W

RI
TT

EN
PE

RM
IS

SI
ON

OF
CE

VA
C

IS
PR

OH
IB

IT
ED

!

2016G.B. 7

9505138

RG

9505138

BESKRIVNING

APPROVED BY

DIMENSIONS

2019/01/08

UNITS

mm
8765

ITEM 
NO. 

PART NUMBER DESCRIPTION QTY.

1 201410885a ARM KIT 1

2 201410886 SPRING KIT 1

3 1803865 SPRING 0

4 201310252 HOSE SUPPORT 1

5 3001050 BUSHING 50mm 2

6 3226038 HOSE ANTISTATIC EVA 38mm 8

7 1335016 C38B HOSE END (38mm) 1

8 201620001 CONE 63-50mm 1

9 201310214 OPEN RING SW54 1

10 201620006 SCREW MC6S M5x12 FZB 4

11 201000517 SUS 304 LOCKING NUT M5 4

12 3190038 HOSE STOP 1

13 1335007 A37C HOSE CONNECTOR (38-50) 1

TOLERANCES acc. to ISO / TOLERANSER enl. ISO
Applicable where no tolerance is indicated.
Gäller där tolerans ej direkt utsatts
For machining / För bearbetning:
For welding / För svetsning:
Surface finish acc to: ISO 1302 Machined surfaces.
Ytjämnhet enligt: ISO 1302. För bearbetade ytor.

ISO 2768-mK
SS-EN ISO 13920-BF

Ra 3,2

74
5

76
0

645
678

27
2

91
2

195

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

PART / ASSEMBLY FILE DRAWING FILE

9505138
SHEET OF

2 2
REV

A-02

DRAWING NRDESCRIPTION

HOSE REEL 38mm

HOSE REEL 38mm

DRAWN BY YEAR WEEK DRAWING CHECKED BY DESIGN CHECKED BY

MATERIAL

DATE

TH
E

IN
FO

RM
AT

IO
N

CO
NT

AI
NE

D
IN

TH
IS

DR
AW

IN
G

IS
TH

E
SO

LE
PR

OP
ER

TY
OF

CE
VA

C
AB

.A
NY

RE
PR

OD
UC

TI
ON

IN
PA

RT
OR

W
HO

LE
W

IT
HO

UT
TH

E
W

RI
TT

EN
PE

RM
IS

SI
ON

OF
CE

VA
C

IS
PR

OH
IB

IT
ED

!

2016G.B. 7

9505138

RG

9505138

BESKRIVNING

APPROVED BY

DIMENSIONS

2019/01/08

UNITS

mm
8765

TOLERANCES acc. to ISO / TOLERANSER enl. ISO
Applicable where no tolerance is indicated.
Gäller där tolerans ej direkt utsatts
For machining / För bearbetning:
For welding / För svetsning:
Surface finish acc to: ISO 1302 Machined surfaces.
Ytjämnhet enligt: ISO 1302. För bearbetade ytor.

ISO 2768-mK
SS-EN ISO 13920-BF

Ra 3,2

74
5

76
0

645
678

27
2

91
2

195

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

PART / ASSEMBLY FILE DRAWING FILE

9505138
SHEET OF

2 2
REV

A-02

DRAWING NRDESCRIPTION

HOSE REEL 38mm

HOSE REEL 38mm

DRAWN BY YEAR WEEK DRAWING CHECKED BY DESIGN CHECKED BY

MATERIAL

DATE

TH
E

IN
FO

RM
AT

IO
N

CO
NT

AI
NE

D
IN

TH
IS

DR
AW

IN
G

IS
TH

E
SO

LE
PR

OP
ER

TY
OF

CE
VA

C
AB

.A
NY

RE
PR

OD
UC

TI
ON

IN
PA

RT
OR

W
HO

LE
W

IT
HO

UT
TH

E
W

RI
TT

EN
PE

RM
IS

SI
ON

OF
CE

VA
C

IS
PR

OH
IB

IT
ED

!

2016G.B. 7

9505138

RG

9505138

BESKRIVNING

APPROVED BY

DIMENSIONS

2019/01/08

UNITS

mm
8765

Dimensions

Hose reel for High Vacuum


